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18 ~ \begin{frame}{page no. 69}

\begin{mdframed}1l. Let $${x}=(x_1, \ldots,x_n)$$,

Set

\[

M_r (\mathbf{x})=\Teft (\frac{x_1Ar+x_2Ar+\cdots+x_nAr}{n}\right)A{1/r}, r\in \bfseries R \setminus
{\left\{O\right\}}

\I\\

and\\

\[

M_o(\mathbf{x})=\Teft(x_1 x_2\1dots x_n \right)A{1/n}

\]

we call $M_r(\mathbf{x})$ the \emph{$rSth power mean} of $\mathbf{x}$.\\
Claim:\\ -
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33 \[
34 \Tim_{r \rightarrow 0} M_r(\mathbf{x})=M_o(\mathbf{x3}).
35 Al
36 \end{mdframed}
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38 \end{frame}
39 \begin{frame}
40 \begin{mdframed}
41
42
43
44 2. Define
45 \NE
46 V_n=
47 \left[
48 \begin{array}{ccccc}
49 1 &1&1 & \cdots & 1 \\
50 -1 & -2 & -3 & Nedors & >=n\\
51 X_1A2 & X_2A2 & x_3A2& \cdots & Xx_nA2\\
52 \vdots & \cdot\vdots & \vdots & \ddots & \vdots \\
53 X_1A{n-2} & x_2A{n-2} & x_3A{n-23}& \cdots & x_nA{n-2}\\
54 \end{array}
55 \right]
56 NN
57 we call $v_n$ the \emph{Vvandermonde matrix} of order $n$.\\
58 Claim:\\ T
59 % §
60 \det V_n=\prod_{1\leq i <j \leq n}(x_j-x_3j)
61 \1\\\end{mdframed}
62
63 \end{frame}
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66 4. Make the following equations\\
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68 $$3A3+4A3+5A3=6A35%%
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70 ~ \begin{mdframed}

75 $5\sqrt{1003}=10%$%

7D, \end{mdframed}

73~ \begin{mdframed}

74 $$(a+b)A3=aA3+3aA2b+3bA2a+bA33%S

s \end{mdframed}
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77 $S\sumr{n}_{k=1} k=\frac{n(h+1)3}{2}3%
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80 $S\frac{\pi}t{4r=\frac{1}{1}-\frac{1}{3}+\frac{13{73+\frac{13{9}-\frac{1}{11}+\cdots$$
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83 + \begin{frame}
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85 $3Cos\theta=sin(90A{\circ}-\theta)$$s
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88 $SeAiA\theta=cos \theta+ i sin \theta$$
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94 $$1im_x_\rightarrow_\infty \frac{\pi()}{x/1ogx}=15$
95 \end{mdframed}
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96 ~ \begin{mdframed}
97 ss\int_{\infty}a{-\infty}eA-A{xA{2}}dx=\sqrt{\pi}$$
98 \end{mdframed} N

99 \end{frame}

100 » \begin{frame}{Question 5}

101 5. Typeset the following sentences.\\

102 ~ \begin{mdframed}

Ik main.tex

103 Positive numbers a, b, c are the side of Tlengths of triangle if and only if$$ a+b>c, b+c>a, c+a>b.S$$

104 \end{mdframed}

105 ~ \begin{mdframed}

106 The area of the triangle with the side lengths a,b,c given by \emph{Heron's formula} $$A=\sqrt{s(s-a)(s-b_(s-c)}$$ where s is the
i i r$$(a+b+c) /25§

107 d}
108 \end{frame}
109 ~ \begin{frame}
110
111
112 ~ \begin{mdframed}
113 The volume of a regular tetrahedon of edge length 1 is $S\sqrt{2}/12§S
114 \end{mdframed} SRS
115 ~ \begin{mdframed}
) . 116 The quadratic equation $$axA2+bx+c=0$$ has roots$$r_1.r_2=\frac{-b\pm \sqrt{bA2-4ac}}{2a}ss
v File outline
117 \end{mdframed}
118 \end{frame}
We can't find any 119 ~ \begin{frame}
crEiEEaT 120 ~ \begin{mdframed}
) ) ) 121 The derivative of a function \emp{f}, denoted \emp{$$fA'S$S$} is defined by $$=Tim_h _\rightarrow _0 \frac{f(x+h)-f(x)}{h}$$
subsections in this file. -
122 \end{mdframed}
Find out more about 123 ~ \begin{mdframed}
the file outline 124 A real- valued function f is convex on an interval I if $$f(\lambda x+(1-\lambda)y) \leq \lambda f(x)+(1-\lambda)f(y)$$,for all x,y $\in$ $I §
and $$ 0 \leq \lambda \leq 1.5$
125 \end{mdframed}

5§ O Typeheretosearch O Hi e " Q 33 G O G - @ ~O o ®mzD) NG 31»212:.323021 L



BN Assignment 2 X & Assignment2 (October02)-On X =+ o = X
<« C O @ overeaf.com/project/61580964a9738c992719289 e x » @ :
& Menu Assignment 2 (October 02) CAD Review 9% Share @ Ssubmit D History @D Chat
Ew PRINGETTI  Rich Text -
Cuie P ——— S o
& main.tex 125  \end{mdframed}
126 \end{frame}
127 ~ \begin{frame}
128
129~  \begin{mdframed}
130 The general solution to the differential equation$$yA{''}-3yA{'}+2y=0$%
131 $Sy=C_leAx+C_2eA{2x}$$
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134 The \emph{Fermat numbers} Fn is defined as\\ $$F_n=2A{2}An,n\geq 0$S\\
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137 ~ \begin{frame}{Question 6}

138 6. Make the following equations. Notice the large delimiters\\
139 ~ \begin{mdframed}

140 $$\frac{d}{dxI\Teft (\frac{x}{x+1}\right)=\frac{1}{(x+1)A2}$$
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143 $$ 1lim_n _\rightarrow _\infty \left(1+\frac {1}{n}\right)An=cS§$
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157 $SR_\theta=\left|
158 ~ \begin{array}{cc}
159 Cos_\theta & -Sin_\theta\\
160 sin_\theta & Cos_\theta\\
161 \end{array}
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171 $$ \leftl
172 ~ \begin{array}{ccc}
173 i & 3J &K\
174 al &bl & c I\
175 a2 & b_2 & c_2\\
176
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\begin{array}{cc}
a1& a_3\\
b_1& b_3\\

\end{array}

\right] j +\left|

\begin{array}{cc}
a_1& a_2\\
b_1& b_2\\

\end{array}
\right| k $§

\end{mdf ramed}
\vskip0.5cm

\fbox{S$ \left[
\begin{array}{cc}
a_{11}& a_{12}\\
a_{21}& a_{21\\
\end{array} \right] \left[
\begin{array}{cc}
b_{11}& b_{12}\\
b_{21}& b_{231\\
\end{array} \right] =\left[

\begin{array}{cc}

a_{11}b_{11}+a_{12}b_{21} & a_{11}b_{12}+a_{12}b_{22}\\

a_{21}b_{11}+a_{22}b_{21} & a_{21}b_{12}+a_{22}b_{22}
\end{array}\right] $s}
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33 FOO=\left\{
\begin{array}{cc}
-xA2 , x<O\\
xA2 , O\leq x \leq 2\\

TS0
\end{array}
33
\end{mdframed}
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\begin{frame}{Question 7}

7. Make the following multi- Tline equations.\\
\begin{mdframed}

$$1+2=3S85

$344546=7488S

$$ 9+10+11+12=13+14+158S
$$16+17+18+19+20=21+22+23+24S%
$$25426+2742829+30=31+32+433+344355%
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the file outline S$S=aA2+ab+ba+bA2SS
SS=asr2+ab+ab+bA2S5S

$$=aA2+2ab+bA23s
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248 $$=an2+2ab+bA23S
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253 $3 tan(\alpha+\beta+\gamma)=\frac{tan(\alpha+\beta)+tan\gamma}{1-tan(\alpha+\beta)tan\gamma}$$

254
255 $$ =\frac{\frac{tan\alpha+tan\beta}{l-tan\alphatan\beta}+tan\gamma}{1-\Teft (\frac{tan\alpha+tan\beta}{l-tan\alpha tan\beta}\right)tan\gamma}$$
256
257 $$=\frac{tan\alpha+tan\beta+(1-tan\alpha\beta)tan\gamma}{1l-tan\alphatan\beta-(tan\alpha+tan\beta)tan\gamma}$$
258
259 §$=\frac{tan\alpha+tan\beta+tan\gamma-tan\alpha\beta tan\gamma}{l-tan\alphatan\beta-tan\alpha tan\gamma - +tan\beta tan\gamma}$$
260 \end{mdframed}
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264 $$\prod_{p}\left (1-\Ffrac{1}{pA{2}}\right)=\prod_{p}\frac{1}{1+\frac{1}{pA2}+\frac{1}{pA4}+\cdots}$$
« File outline 265 $5= \left(\prod_{p}\left (1+\Frac{1}{pA2}+\frac{1}{pAd}+\cdots\right) \right)A{-1}ss
266 $3 =\left@+\frac{1}{2A2}+\frac{1}{3A2}+\frac{1}{4A2}+\cdots\right) \right)A{-1}$$
267 $3=\frac{6}{\pir{2}}5$
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271 \centering

Find out more about

272 \textbf{ \Huge Thank you}
273 \end{frame}
274 \end{document}

the file outline

E® O Type here to search (o] it e e : 33 J G o G - @ ~ S o m gz Q) NG 31,21?24021 =






